oakrw

o

9.

CHAPTER-2 (WHOLE NUMBER)
HOTS QUESTIONS

Estimate each of the following number by rounding off each number to
nearest hundreds. 17677+13589. Ans: 31300

The population of a town was 78787 in the year 1991 and 95833 in the year
2001. Estimate the increase in population by rounding off each population to
nearest hundreds. Ans: 17000

1001*2002=1001*(1001+ ). Ans. 1001
786*3+786*___=786*(____+7). Ans.3

A vessel has 13 litres 200 ml of fruit juice. In how many glasses each of
capacity 60ml can it be filled? Ans: 220

The number of whole numbers between 78 and 100 is . Ans: 21
Write True or False.

Every whole number has its predecessor. Ans: False

Write True or False.

Addition is commutative for natural numbers. Ans: True

Whole numbers are closed under and . Ans: Addition and
Multiplication

10. A milkman distributes 20 litres and 35 litres of milk in the morning and

evening respectively. How many total litres of milk is distributed in the month
of February,2020? (Use suitable property).  Ans: 1595 litres
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